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acf (x, type="correlation", plot=T)
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ar(x, aic=T, nethod="burg")



ai c=T AR Akaike’s information criterion,

AIC [4] met hod="bur g"
Burg met hod="yul e-wal ker" Yule-Walker
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cat (past e(as. char act er (dnane$hi ragana), col | apse=""),
" ", x.ar.burg$n. used," "

, length(uni que(x)), "
| engt h(uni que(trunc(x))), " ", "¥n", sep="")

| engt h(uni que(x))
| engt h(uni que(trunc(x))
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Ssw est <- shapiro.test(x)

pval ue <- format(round(sw est$p, digits=4))

a <- paste(" “," p =", pvalue, collapse="")
hi st (x, probability=T, xlab="", col=0, nain=a)

pp <- ppoints(100); nme <- mean(x); sd <- stdev(x)

ggqpoi nts <- gnorm pp, nme=ne, sd=sd)

i nes(qggpoi nts, dnorn(qqgpoints, nme=ne, sd=sd))
p = 0.0076
p =0.26 > 0.05
shapi ro. test (x) hist(x,...)
p > 0.05 50 74
p>0.01 86 94
[2]
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par (pty="s")
I s.out <- Isfit(x1, x2)
Is.results <- Is.print(ls.out)
pl ot (x1, x2, x|l ab=" ", ylab=" ", font=36)
abline(ls.resul ts$coef.table)
x1 X2

3 S-PLUS

cor.test(x1, x2, alternative="two.sided"

Pearson nmet hod="kendal | "
met hod="spear man" Spearman
p > 0.05

net hod="pear son")
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